Weekly Vocabulary List

[4] 12th Oct. - 16th Oct.
6rade 2 Vocabulary / Phrases
English Korean English Korean
L/R [Regular] & [Mars]
(Our world)
parrot ABEM ‘A penguin | HET2 =HF
giraffe l= can swim." | = RUCh.
monkey #sol 'It can't aR2 &%
elephant 372l fly.’ ettt
lion AR}
zebra o= 'Penguins can | EE2
panda R swim.’ A =
tiger =20| AUt
penguin =l ‘They can't | 1E2 &%l
kangaroo A1z fly.' Fai=
crocodile of o1
hippo &tal ‘Can a 2 g%
camel = E} penguin = ALP
hop 238 Fck | swim?’
swing au 'Yes, it can. |8, & =+
colorful feathers | &l24&t A04.
AL No, it can't’ |OfL], & =+
sharp claws HIIER giod.
&
short tail 2 ma| |'Can driEol
long trunk 7 penguins -1 B
AnEIR | swim?' AUL?
big teeth g ol'w 'Yes, they |8, & =
can. / A04.
No, they ofL|, & =
can't. 8104,
Speaking | reading &4l ‘What are | LE U
making BHE 7| you doing?’ | dt1 RULI?
drawing az|7|
robot 2X 'T'm drawing | LtE &&
picture a8, M&E | a picture.’ azg|m o,




book A
'T'm making |UE ERE
a robot.’ BHED Qloq.
'I'm reading | Lt & {1
a book.’ U0q.
Wreiting [Regular] boil #Zolct
wash Mt mash (=) =
peel Hi7|ct steam |
slice =% stir-fry e
cut N I=u grate gol ot
gril A2{o]
bake =ZCt, M4 |'I wash the |UE HAHE
fry W& ZCt | potato.’ Mo,
§{7|ct,
ek
[Mars]
tall 717t 2 T have L= &2
short 717t &2 |short hair.' | HEZIE 7IX|Z
long hair 7! ozl 4t
short hair e ol
special Skl 'T am tall." |LtE 717t
ice-cream ofo|A3 & 3ct.
muffins HE
cookies 7 'T like L&
looks Hrt ice-cream, |OIO|ATEE
dislike F O}t x| but I don't | FO}3tX|EH,
giCt. like HE2
muffins.’ FOFetx|
et
Reading [Regular] <Space
-5 Kid>
sun &l space F
earth X+ planet o
bed =[n) Mercury =
shirt M= Venus =4
pants HF X Earth x|+
house & Mars 8t
dog 7H Jupiter g4




bike A Saturn Ed
swings au Uranus Mg
slide O|nEHE | Neptune M
watch EFAAH
must ~5f of gt get out of |HI2Z LI2Ct
e put on it
baby ot 7| Off we go! | &
rocket 2A get into ~oto g
pizza |zt Eo17ICt
moon =} lots of He
star - extra 79
cheese xl= get in ~2 JO0{7IC}
mushroom B4 about ~0f gt
after all ofFE
[MARS]
stream e
similar H|& 8
calm ink+X.,
meat 17|
fell & o{&ict
walk along 2t M
dct
shadow d=




